This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 02 - Garnock Valley

7,044

5

1,175

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robert BARR	Independent	388
John BELL	Scottish Labour Party	806
Anthea DICKSON	Scottish National Party (SNP)	1,362
Carol Ann DOBSON	Freedom Alliance. Truth, Equality and Health.	27
Margaret JOHNSON	Scottish National Party (SNP)	844
Ted NEVILL	Scottish Conservative and Unionist	327
Donald L REID	Independent	1,613
James ROBSON	Scottish Labour Party	190
Ronnie STALKER	Scottish Conservative and Unionist	1,420
Catherine WILLIAMSON	Scottish Liberal Democrats	55
John WILLIS	Independent	12
	Total	7,044

Candidate Anthea DICKSON Elected with 1,362 votes, being in excess of the quota of 1,175 Candidate Donald L REID Elected with 1,613 votes, being in excess of the quota of 1,175 Candidate Ronnie STALKER Elected with 1,420 votes, being in excess of the quota of 1,175

This report contains the transfers results.

Stage 2 - Surplus of Donald L REID

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	282	0.27154	76.57428
Transfer to John BELL	319	0.27154	86.62126
Transfer to Carol Ann DOBSON	18	0.27154	4.88772
Transfer to Margaret JOHNSON	293	0.27154	79.56122
Transfer to Ted NEVILL	175	0.27154	47.51950
Transfer to James ROBSON	110	0.27154	29.86940
Transfer to Catherine WILLIAMSON	32	0.27154	8.68928
Transfer to John WILLIS	83	0.27154	22.53782
No further preference	301	0.27154	81.73354
Not transferred due to rounding			0.00598
	Total		438.00000

This report contains the transfers results.

Stage 3 - Surplus of Ronnie STALKER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	434	0.17253	74.87802
Transfer to John BELL	104	0.17253	17.94312
Transfer to Carol Ann DOBSON	6	0.17253	1.03518
Transfer to Margaret JOHNSON	68	0.17253	11.73204
Transfer to Ted NEVILL	475	0.17253	81.95175
Transfer to James ROBSON	30	0.17253	5.17590
Transfer to Catherine WILLIAMSON	18	0.17253	3.10554
Transfer to John WILLIS	12	0.17253	2.07036
No further preference	273	0.17253	47.10069
Not transferred due to rounding			0.00740
	Total		245.00000

This report contains the transfers results.

Stage 4 - Surplus of Anthea DICKSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	22	0.13729	3.02038
Transfer to John BELL	63	0.13729	8.64927
Transfer to Carol Ann DOBSON	8	0.13729	1.09832
Transfer to Margaret JOHNSON	1,190	0.13729	163.37510
Transfer to James ROBSON	12	0.13729	1.64748
No further preference	58	0.13729	7.96282
Not transferred due to rounding			0.01102
	Total		187.00000

This report contains the transfers results.

Stage 5 - Exclusion of Carol Ann DOBSON

34.02122

Otage o Exolusion of Oaron Alin Boboots			04.02122
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	6	1.00000	6.00000
Transfer to John BELL	3	1.00000	3.00000
Transfer to Margaret JOHNSON	1	1.00000	1.00000
Transfer to Ted NEVILL	3	1.00000	3.00000
Transfer to Catherine WILLIAMSON	3	1.00000	3.00000
Transfer to John WILLIS	1	1.00000	1.00000
Transfer to Robert BARR	7	0.27154	1.90078
Transfer to John BELL	3	0.27154	0.81462
Transfer to Margaret JOHNSON	1	0.27154	0.27154
Transfer to Catherine WILLIAMSON	1	0.27154	0.27154
Transfer to John WILLIS	1	0.27154	0.27154
Transfer to Robert BARR	1	0.17253	0.17253
Transfer to Margaret JOHNSON	1	0.17253	0.17253
Transfer to Ted NEVILL	1	0.17253	0.17253
Transfer to Catherine WILLIAMSON	1	0.17253	0.17253
Transfer to John WILLIS	1	0.17253	0.17253
Transfer to Robert BARR	1	0.13729	0.13729
Transfer to Margaret JOHNSON	2	0.13729	0.27458
No further preference	10	1.00000	10.00000
No further preference	5	0.27154	1.35770
No further preference	1	0.17253	0.17253
No further preference	5	0.13729	0.68645
Not transferred due to rounding			0.00000
	Total		34.02122

 $Report\ Name:\ Transfers_V0001_Ward-02---Garnock-Valley_06052022_160730.pdf\ Created:\ 06-5-2022\ 16:07:30-16$

This report contains the transfers results.

Stage 6 - Exclusion of John WILLIS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	5	1.00000	5.00000
Transfer to Margaret JOHNSON	2	1.00000	2.00000
Transfer to Ted NEVILL	1	1.00000	1.00000
Transfer to James ROBSON	1	1.00000	1.00000
Transfer to Robert BARR	45	0.27154	12.21930
Transfer to John BELL	5	0.27154	1.35770
Transfer to Margaret JOHNSON	4	0.27154	1.08616
Transfer to Ted NEVILL	6	0.27154	1.62924
Transfer to James ROBSON	2	0.27154	0.54308
Transfer to Catherine WILLIAMSON	4	0.27154	1.08616
Transfer to Robert BARR	1	0.17253	0.17253
Transfer to Ted NEVILL	4	0.17253	0.69012
Transfer to Catherine WILLIAMSON	1	0.17253	0.17253
No further preference	4	1.00000	4.00000
No further preference	18	0.27154	4.88772
No further preference	7	0.17253	1.20771
Not transferred due to rounding			0.00000
	Total		38.05225

This report contains the transfers results.

Stage 7 - Exclusion of Catherine WILLIAMSON

72.04674

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	12	1.00000	12.00000
Transfer to John BELL	12	1.00000	12.00000
Transfer to Margaret JOHNSON	4	1.00000	4.00000
Transfer to Ted NEVILL	7	1.00000	7.00000
Transfer to James ROBSON	6	1.00000	6.00000
Transfer to Robert BARR	7	0.27154	1.90078
Transfer to John BELL	3	0.27154	0.81462
Transfer to Margaret JOHNSON	4	0.27154	1.08616
Transfer to Ted NEVILL	2	0.27154	0.54308
Transfer to James ROBSON	3	0.27154	0.81462
Transfer to Robert BARR	6	0.17253	1.03518
Transfer to John BELL	2	0.17253	0.34506
Transfer to Ted NEVILL	8	0.17253	1.38024
Transfer to Margaret JOHNSON	3	0.13729	0.41187
No further preference	17	1.00000	17.00000
No further preference	18	0.27154	4.88772
No further preference	4	0.17253	0.69012
No further preference	1	0.13729	0.13729
Not transferred due to rounding			0.00000
	Total		72.04674

 $Report\ Name:\ Transfers_V0001_Ward-02---Garnock-Valley_06052022_160730.pdf\ Created:\ 06-5-2022\ 16:07:30-16$

This report contains the transfers results.

Stage 8 - Exclusion of James ROBSON

235.05048

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	11	1.00000	11.00000
Transfer to John BELL	145	1.00000	145.00000
Transfer to Margaret JOHNSON	14	1.00000	14.00000
Transfer to Ted NEVILL	5	1.00000	5.00000
Transfer to Robert BARR	8	0.27154	2.17232
Transfer to John BELL	38	0.27154	10.31852
Transfer to Margaret JOHNSON	15	0.27154	4.07310
Transfer to Ted NEVILL	9	0.27154	2.44386
Transfer to Robert BARR	8	0.17253	1.38024
Transfer to John BELL	13	0.17253	2.24289
Transfer to Margaret JOHNSON	2	0.17253	0.34506
Transfer to Ted NEVILL	1	0.17253	0.17253
Transfer to Robert BARR	1	0.13729	0.13729
Transfer to John BELL	1	0.13729	0.13729
Transfer to Margaret JOHNSON	7	0.13729	0.96103
No further preference	22	1.00000	22.00000
No further preference	45	0.27154	12.21930
No further preference	6	0.17253	1.03518
No further preference	3	0.13729	0.41187
Not transferred due to rounding			0.00000
	Total		235.05048

This report contains the transfers results.

Stage 9 - Exclusion of Ted NEVILL

Action	No. of Ballot	Transfer Value	Votes Transferred
	Papers		
Transfer to Robert BARR	66	1.00000	66.00000
Transfer to John BELL	67	1.00000	67.00000
Transfer to Margaret JOHNSON	8	1.00000	8.00000
Transfer to Robert BARR	37	0.27154	10.04698
Transfer to John BELL	27	0.27154	7.33158
Transfer to Margaret JOHNSON	10	0.27154	2.71540
Transfer to Robert BARR	155	0.17253	26.74215
Transfer to John BELL	71	0.17253	12.24963
Transfer to Margaret JOHNSON	9	0.17253	1.55277
Transfer to John BELL	1	0.13729	0.13729
Transfer to Margaret JOHNSON	4	0.13729	0.54916
No further preference	202	1.00000	202.00000
No further preference	118	0.27154	32.04172
No further preference	254	0.17253	43.82262
Not transferred due to rounding			0.00000
	Total		480.18930

This report contains the transfers results.

Stage 10 - Surplus of John BELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BARR	176	0.00589	1.03664
Transfer to Robert BARR	98	0.00159	0.15582
Transfer to Robert BARR	54	0.00101	0.05454
Transfer to Robert BARR	11	0.00080	0.00880
No further preference	745	0.00589	4.38805
No further preference	265	0.00159	0.42135
No further preference	119	0.00101	0.12019
No further preference	25	0.00080	0.02000
Not transferred due to rounding			0.00653
	Total		6.96285

This report contains the transfers results.

Stage 11 - Exclusion of Robert BARR

701.74585

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret JOHNSON	102	1.00000	102.00000
Transfer to Margaret JOHNSON	77	0.27154	20.90858
Transfer to Margaret JOHNSON	71	0.17253	12.24963
Transfer to Margaret JOHNSON	12	0.13729	1.64748
Transfer to Margaret JOHNSON	43	0.00589	0.25327
Transfer to Margaret JOHNSON	18	0.00159	0.02862
Transfer to Margaret JOHNSON	15	0.00101	0.01515
Transfer to Margaret JOHNSON	7	0.00080	0.00560
No further preference	386	1.00000	386.00000
No further preference	309	0.27154	83.90586
No further preference	534	0.17253	92.13102
No further preference	12	0.13729	1.64748
No further preference	133	0.00589	0.78337
No further preference	80	0.00159	0.12720
No further preference	39	0.00101	0.03939
No further preference	4	0.00080	0.00320
Not transferred due to rounding			0.00000

Total 701.74585